SERIES 'CHP' HYDRO PNEUMATIC CYLINDER FOR PET MACHINE

T’ THD'S (6 NOS.
—— FOR MOUNTING
RESERVOIR INTENSIFIER UNIT e
T THD'S. (4 NOS.) =\ FOR (8 & 15 & 30 TONNES)
T4’ BSP. : }<— L2 ‘T4’ B.SP. 13’ B.S.P. PORTS o T2 THD'S ot
o BSp K‘ FOR MOUNTING "‘ o 03 0% |3 —— | 0¥ (P.CD)
YT = | L @4>\$ —
—_ + | —_ i‘i’\. _%- — 1 1 D1 D2 4 Q‘__
\J W3 ,.SQ. Y \ o 4] & é W2 ,SQ.
\ i \ T oS
\_'13' B.S.P. PORT W4 SQ 1/4" B.S.P. HYDRAULIC GAUGE PORT \ o
W o |4 | ™ DS (4 NoS)
——— | § —— — — = L1 — ForR MOUNTNG == W1 SQ. r=—
FOR (2 & 4 TONNES)
Model Total | Power NL) Free Air
Tonnage L1 L2 | L3 | L4 | LS| L6| L7(D1 | D2| D3| W1 | W2]| W3| W4 T T2 T3 T4 TS5 Q( )

No. Stroke | Stroke Consumed/Cycle
CHP—02-100—03 02 100 03 40115 5 [ 19| 30 |210[150]|254] 45| — | 78| 55 [ 52 | 65 [ M12 X 1.75 | M20 x 1.5 [ G1/4 [ c1/2 | M8 x 1.25 3.5
CHP—02-150—03 02 150 03 45115 | 5 [ 19| 30 | 260 200]|254] 45| — | 78| 55 [ 52 | 65 [ M12 X 1.75 | M20 x 1.5 [ G1/4 [ c1/2 | M8 x 1.25 4.7
CHP—02-200-03 02 200 03 |s01|[ 15| 5 [ 19| 30 |310]250]254] 45| — | 78| 55 [ 52 | 65 [ M12 X 1.75 | M20 x 1.5 [ G1/4 [ c1/2 | M8 x 1.25 6.0
CHP—02-250-03 02 250 03 |s51[ 15| 5 [ 19| 30 |3s0[300]|254] 45| — | 78| 55 [ 52 | 65 [ M12 X 1.75 | M20 x 1.5 [ G1/4 [ c1/2 | M8 x 1.25 7.2
CHP—04-100—03 04 100 03 433 20| 5 [ 22| 35 | 227156 |31.75] 55 | — | 108] 78 [71.5] 92 | M6 x 2 M24 X 2 | Gi/4 | G3/4 | M10 X 1.5 10.9
CHP—04-150—03 04 150 03 483 20| 5 [ 22| 35 | 277|206 [31.75] 55 | - | 108] 78 [71.5] 92 | M6 x 2 M24 X 2 | Gi/4 | G3/4 | M10 X 1.5 13.1
CHP—04—200-03 04 200 03 |533] 20| 5 [ 22| 35 | 327|256 |31.75] 55 | — | 108] 78 [71.5] 92 | M6 x 2 M24 X 2 | Gi/4 | G3/4 | M10 X 1.5 15.3
CHP—04—250-03 04 250 03 |s583] 20| 5 [ 22| 35 | 377|306 [31.75] 55 | — [ 108] 78 [71.5] 92 | M6 x 2 M24 X 2 | Gi/4 | G3/4 | M10 X 1.5 17.5
CHP—08-100—03 08 100 03 472 30| 5 | 24 | 35 | 222|144 |50.8] 75 [105 [145 | — [100 [128 | M6 x 2 M36 X 2 | G1/2 | G3/4 [M12 X 1.75 21.0
CHP—08-150—03 08 150 03 |522] 30| 5 | 24 | 35 | 272|194 |50.8] 75 [105 [145 | — [100 [128 | M6 x 2 M36 X 2 | 61/2 | 63/4 [M12 X 1.75 245
CHP—08—200-03 08 200 03 |572] 30| 5 | 24 | 35 | 322|244 50.8] 75 [105 [145 | — [100 [128 | M6 x 2 M36 X 2 | 61/2 | 63/4 [M12 X 1.75 28.5
CHP—08—250-03 08 250 03 |622] 30| 5 | 24 | 35 | 372|204 50.8] 75 [105 [145 | — [100 [128 | M6 x 2 M36 X 2 | 61/2 | 63/4 [M12 X 1.75 32.5
CHP—15-100—03 15 100 03 [495[ 35| 5 [ 25| 35 [ 252|167 [62.3] 90 [125 182 | — [130 [168 | M20 X 25 | Ma0 X 2 [Gi/2 | &1 M16 X 2 4.3
CHP—15-150—03 15 150 03 |[545[ 35| 5 [ 25| 35 [ 302|217 [62.3] 90 [125 182 [ — [130 [168 | M20 X 25 | Ma0 X 2 [Gi/2 | &1 M16 X 2 48.3
CHP—15—-200—03 15 200 03 |[595[ 35| 5 [ 25| 35 [ 352|267 [62.3] 90 [125 182 | — [130 [168 | M20 X 25 | Ma0 X 2 [ G1/2 | &1 M16 X 2 57.7
CHP—15—-250—03 15 250 03 |[645] 35| 5 [ 25| 35 [ 402|317 [62.3] 90 [125 182 — [130 [168 | M20 X 25 | Ma0 X 2 [Gi/2 | &1 M16 X 2 67.3
CHP—30-100—03 30 100 03 |[508[ 40| 5 [ 26 | 40 [ 248|167 [62.3] 90 [150 [ 205 — [140 [175] M24 X 3 | M8 X3 [Gl/2 | 6t M16 X 2 47.0
CHP—30-150—03 30 150 03 |[558[ 40| 5 [ 26 | 40 [ 298|217 [62.3] 90 [150 | 205 — [140 [175] M24 X 3 | M8 X3 [Gi/2 | &t M16 X 2 56.0
CHP—30-200-03 30 200 03 [e608[ 40| 5 [ 26 | 40 [ 348|267 [62.3] 90 [150 | 205 — [140 [175] M24 X 3 | M8 X3 [Gi/2 | &t M16 X 2 90.0
CHP—30-250-03 30 250 03 |[e58] 40| 5 [ 26 | 40 [ 398 317 [62.3] 90 [150 | 205] — [140 [175] M24 X 3 | M8 X3 [Gl/2 | ot M16 X 2 109.0
TO CALCULATE COMPRESSOR POWER CAPACITY PNEUMATIC CIRCUIT DIAGRAM (SERIES 'CHP')
1 H.P. = 120 Litres of free air (NL) per minute at 5 bar. OIL RESERVOIR TO BE MOUNTED ABOVE LEVEL OF CYLINDER.

N = Number of cycles per minute.
Q = Free air consumed per cycle (From chart) in normal litres (NL). SERIES 'CHP* HYDRO PNEUMATIC CYLINDER
QX N QX N FOR MOULD OPEN — CLOSE & LOCK
POWER REQUIRED = ————— (H.P) OR ————— X 0.746 (KW)
120 120
FLOW CONTROL VALVE FOR FORWARD SPEED CONTROL.
Output Forces (Kgf.)
at Inlet Air Pressure of 5 Bars USE HYDRAUL'C O". ONLY S{gRSngBPMthgE 3 2THSCI)-:L)(_'I%ENXLALF\’,IIIE_OT
CYL|
Tonnage | 2T | 47 | 8T [ 15T | 30T |HYDROL—32 (Bharat Petroleum) OPEN—CLOSE FOR POWER STROKE
Approach | 100 | 230 | 400 | 750 [ 925 |SERVO SYSTEM—32 (Indian Oil Corporation) S 4 ’
Power 2000 | 4200 | 8000 | 15000 |20000 |EFNKLO—32 (Hindustan Petroleum) o=
Return 75 200 | 300 | 575 | 775 EXHAUST
SILENCER
FILTER, REGULATOR
& LUBRICATOR SET 3/2 HAND SLIDE VALVE REGULATOR FOR
(NOT SUPPLIED BY US) SHUT/OPEN AIR SUPPLY ~ TONNAGE ADJUSTMENT




